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EXAMPLE 1 Evaluate the Riemann sum for f(x) = x> — 6x,0 < x < 3,withn =6
subintervals and taking the sample endpoints to be right endpoints.
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Theorem If f is continuous on [a, b], or if f has only a finite number of jump

discontinuities, then f Is integrable on [a, b]; that is, the definite integral ‘: f(x) dx

exists. O
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EXAMPLE 4

(a) Set up an expression for ‘? e’ dx as a limit of sums.
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S dx 7 EXAMPLE 7 Use the properties of integrals to evaluate J~01 (4 + 3x?)dx.
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EXAMPLE 8 If it is known that |,’ f(x) dx = 17 and [; f(x) dx = 12, find [;°f(x) dx.
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